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Page Item Corrections
35 Eq.3.10 -iy should be —di,/dt
36 Eqg.3.12 -1; should be —di,/dt
59 Eqg. 3.93 0 =(Cpy +Cp +...+C ) Wy —C .V, = = Cp Vi
, 101
2 2
B B
142  EqQ.5.65 0 — ——
| [ “ﬁ°] 2 2
11 1
2 2 2 |
1 0 1
1 l \/§
Eq. 5.66 T =l-=- — 1
| [Too] 2 2
BENC I
L 2 2
2
3 3N 3( N
176  EQ.6.33 L, :ELSS :EN_: L :E[N_:] L,
d A, i
£ =i —rig, — E, — o, L
dt as s'gs e s ds
193 EqQ.6.89 .
%_vgs—rslds E, +a)eLS|qs
Varo = . (Xlr +Xm) I~aro +— Xmlaso
195 Eq.6.97
l//aro +A!r//ar = (Xlr + Xm)(fellro +A|~ar)+&xm(laso +A|~as)
b @,
2
\7aso+A\7as:[rs+J e(xls+xm_ = ]j( aso+A|as)
b Xlr + Xm
Eg. 6.99

2 1 1 2 11
197 Eg.6.106 Voo = §Vas —§Vbs _EV“ _§Vag —Evbg _§ch
197 Eq.6107  vi=2v, -ty -ty =2y -ty oLy

3w g gl Tgm g3



227  Fig. 6.26(c) Asshown, Ty, in engineering units is not consistent with
rotor equation in per unit. Use either Eq. 6.120 to change
rotor equation to engineering unit, that is replace 1/(2H) by
P/(2Jay) or change Ten, to per unit. Should be done for
all project files in Chapter 6 and 9.

248  Fig.6.39(e) Value of Tfactor has to give a Teny, in per unit to be consistent.
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285-6 Fig7.10 Eqg. 7.75 should be Eq. 7.77 in Fig. 7.10(a) and 7.10(c)
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346  1st para When Eq. 7.180 is written ...

347 Eq.7.184 replace by, by by,
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Eq 7.190 Tem = g%{l/lmd (iql + i(;{z)_‘//mq (idl + Idz)}

Eq. 8.36

Fig. 9.3

Fig. 9.4

b
replace [3,/2/2 by L, 1%2/2
Tmech liNne missing or incomplete

Tmech line misplaced



